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3.4 Graphing y=a(x-h)?+k
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1. Plot the vertex.
Up or down?

2.
3. Count over & Up/dOW“IS to get 4 more points.
4. Draw a smooth curve.
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vertex (h,k)

/N

y=a(x-h)?+k
S&«Madar/ \

a >0, opens up (has min) axis of symmetry
a < 0, opens down (has max) is x=h

if a>1, then thereis a

if0<a<1,thenthereisa
stretch by a factor of a

compression by a factor of

Q |+

from the vertex: from the vertex:

,,111xa — 1 lea

— 2 I4xa — 2 I4xa

4—»3 I 9 Xa 4—»3 19 Xd
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values that

Ex. 1 Complete the table.
y can take
. E i f
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Ex.2  Write an equation for each parabola.
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Ex. 3

v—fwv_NY _2
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Graph. (show at least 5 points)
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C) V=—3{X+Z) +0o
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e) y=—(x+1)
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b) y=2{x+5) +1
£l
= 3 pe

4 y=i(x-3f -2
4
n§-'
f) y=—"-X +6
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